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Instructions :

i)  All questions are compulsory.

ii) This question paper has two sections ‘A’ and ‘B’

iii) Section ‘A’ contains 20 multiple choice type questions of 1 mark
each that has to be answered on OMR Answer Sheet by darkening
completely the correct circle with blue or black ballpoint pen.

iv) After giving answer ot OMR Answer Sheet do not cut or use eraser,
whitener etc.

v}  Section ‘B’ contains descriptive type questions of 50 marks.

vi) Total § questions are there in this section.

In the beginning of each question it has been mentioned how many
parts of it are to be attempted.
Marks allotted to each question are mentioned against it.

ix) Start from the first question and go up to the last.question. Do net
waste your time on the question you cannot solve.

X} If you need place for rough work, do it on left page of your answer
book and cross { x ) the page. Do not write the solution on that
page.

xi) Do not rub off the lines constructed in a question of constructon.
Do write the steps of construction in brief, if asked.

xii)

Draw neat and correct figure in solution of a question wherever it

is necessary, otherwise in its absence the solution will be treated
incomplete and.&wrong.

HUg -
~ Section-A
( Tgfawedra w9 )

( Multiple Choice Type Questions )
1. AR 653 117 % HCF H 65p- 117 % ¥ ¥ oI b1 S @ p & 7@ =

g ?

(A) 1 B) 2

) 3 . D) 4 1
1. IfHCF of 65 and 117 is expressed as 65p - 117, then the value of p will be

(A) 1 B 2

(C) 3 | (D) 4 1
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Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

21&11:5" *1 T B
l+tan“ 45°

(A) -1

(C} 1

21an45°

2, The value of -
1+tan“ 45°

A) -1
(© 1

£3. 15, 18 3R 24 1 wowo §
(A) 90
{C) 240

3. L.C.M. of 15, 18 and 24 is

A) 90
(C) 240
_ &
a. %mmm%&
S
W
QQ
w2 N\
S
(C) y
4. Simplest f 148 .
implest form of 185 is
4
(A) 3
5
(C) Y
8000/78
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5. p % fFw TR % o wiem 3x-y+8=0 ¥R 6x-py=16 gurdt @l faefm
sl K 2

(A) -2 B) 2

(€ 19/

B | —

L
2
S. For which value of p, the equations 3x~y+8=0 and 6x-py=16

represents coincident lines ?

(A) -2 - (B) 2

1
© 5 o -1 .

6. IR 3x+2py=2 AR 2x+5y+1=0 ZR frefa ant wer gain &, @ p F AW
gm

15
Ay =2 @ -2
&
g\
% |
6. If the lines @Qﬁ:sentcd by 3x+2py 2 and 2x+5y+1=0 are parallel,
then the \@hc of p will be

3
© (D) % Ly

15 . 4
(A) vy (B) -3
3 5
(C) 5 (D) 3 1
7. afe 15cot8=8, @ sin 0 F 7R AW
17 15
(A) 1 (B) 3
8 15
(C) 17 (D) 17 _l
I.
l
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7. 11 15cot0=8, then the value of sin 0 will be
A 17
A 15 ®m 2
c) -8
17 (D) —iﬁ _ 1
8. AR ABC wr XYZ & 97w fiyw §
TUT LA = 75° 3 £y = 570
e 8], @ ZCH
(A) S8° B ago
(C) 4s°
8. If ABCand Xyz oo 1
. - are two similar triangles and £4 = 750 o
the value of £C will be . Y= 37 then
) sg° B age
(C) 45° N\
(D) s4 1
o ®Im(-34)NmAgaznl
(A) 5
§ @ (B) . 6
(€) V49 &g\ (D) 1 1
. O
9. The distance of t&@01nt m(-3, 4) from the origin is
(A) 5 $ B 6
(C) 49 (D) 1 1
10. famgait (-2, 6) 3t (-2, 10) ! frem a1et Yarevs 3 ww farg & fdwis 8
A) (-2,8) B) (-2,5)
€ (-2,3) (D) (0,2) 1
10. The coordinates of the mid-point of the line segment made by joining the
points (- 2,6 )and (-2, 10) are
(A) (~-2,8) (B} (-2,5)
(C) (-2,3) (D) (0,2) 1
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1 fet aww R aBC i aR ADLBC 1 @ AD? @t Em

(A) %cn’ (B) 4 cp?

(C) 2 cp? (D) 3cD? !
I1. If ADLBC in an cquilateral triangle ABC, then AD? will be

@) 3 cp? (B) 4 CD?

(C) 2 cD? (D) 3CD? !
12. @ ABC % +iWl ¥ fdwis wuw: (7, 5). (5, 7) MM (-3, 3 ) hiak BC®
e fag DR, A AD #) W anft

(A) 4 9TE® (B) SHAES®
(C) 6 umw (D) 7 WES 1

12. The vertices of triangle ABC are ( 7, .5); (8,7 ) and ( - 3, 3 ) respectively. If
the mid-point of BC is D, then the measure of AD will be

(A) 4 units \\Q@ (B] S units
(C) 6 units (&‘%% (D} 7 units 1
13. ﬁsecﬂni%@?aﬂmm
B
(A} 90° (B) 60°
(C) 45° (D) 30° l

13. I sec O =2, then the value of 6 will be
(A) 90° (B) 60°
(C) 45° (D) 30° H

14, [coscczﬂ—cotze} (1 ~cos’8) T UA }

(A) sec?o (B) tan?0
(C} cosec?0 (D) sin’0
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2
14. The valuc of ( cosece”0 —i:t'_':t2 (]) (1- cosi 0) is
(A scc?o (B) tan?g
{Cl CDSCC2€| lD] sin'za 1
15. & Elﬁqmﬂ%m%mmmm 9n qf}? t,ﬁmmmﬁﬁws‘r’ﬁ
) 38f (B) 6
©) 2R (D) 4 ¥ !
15. Area of the base of a right circular cylinder is 9n cm?. Radius of its base
will be
(A) 3 cm B) 6cm
(C) 2cm (D) 4cm L
16. 4 8 e a0t 39 % arertn oY w5 &TBe E
(A) 64 A2 | (B) 32?2
\\Q@
- (©) 128 T ‘ §5 (D) 256 &2 | 1
\Q‘Zr
16. Area of the squgg@%hich can be drawn in the circle of radius 4 cm will be
(A). 64 cm? " B) 32cm?
(C) 128 cm? (D) 256 cm? 1
17, F=fafigs gt @ v g
o1l - AU 3-5 | 5.7 | 79 | 9-11
AT 4 2 1 3
(A) 6 (B) 62
(C) 66 (D) 6-8. 1
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I7. The mean from the following tablc will be

Class-interval | 3-5 | 5.7 | 79 | 9-11

Frequency 4 2 1 3
(A) 6 B) 62
€) 66 (D) 68 !

18. U 9 ! Tk wn e a2, @ us RWST S & W H Wiywar 2

(A) 1 1
B) 3
2
C) =
© % (D) % 1
18. ic i
A dic is thrown once. The probability of getting a prime number will be
(A) 1 | L
B '3
2
C) =
(C) 3 (D) .‘}; 1
Q
19. 7R fet N
ke Wﬁ'@)@mmmzo-smmﬁmma?ﬁmmm
NG
(A) 20'5$& B) 21
&
(€) 21 | (D) 22 1
19. If mean of a frequency distribution is 20-5 and median is 21 then mode
will be
(A) 205 B) 21
(C) 215 (D) 22 | 1

20. frferfea § & #h- e wem A st 7 @ wwdt 2 0

(A) 4/3 (B) 2/3
(C) 1 (D) 3/5 " 1
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4/3

A 1 (B 2/3

© (D) 3/s 1
Wrg - §
Bedtlo:_:—n

(T v )
( Descriptive questions )
| Wit @IS WAL

?IﬁcotA__ amﬁﬁ'{ﬁ; hsec A -_

acosec A =1. 2

b) x form & R 2x, x + 8 3x + 1 GHAR Hvit & WY 9

2
© e PR R 2/3 w sutda e 3. 2
(d) Qmmmanmngwﬁth%lmmqammiﬁﬁm 2
€ BZ(2,-3) 3 (-4, 6) = P o Yarwws & 1: 2 % gew
| mﬂwhaa?ﬁméﬁ@%ﬁi!ﬁmm%m 2
0 PFreafafea smeft Ridet ¥ o s € . 2

EURC GG 0-10 | 1020 | 20-30 | 30-90 | 40-50
CICIT 8 12 - 10 11 9

1. Do all the parts :

(@) If cot}'&:g-,then prove that %2%%= : | 2

(b) For which value of x the 2x, x + 8 and 3x + 1 will be in arithmetic

progression ? 9

() Prove that 23 is an irrational number. 2

(d) Volume of a cube is 729 cubic cm. Find its total surface area. 2
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(€) Find the co-ordinates of the point dividing the linc segment formegd

byjoinmgthepoims(g’_mand(-4,6)inthcratio1:2. 2
() Find the mean from the following frequency distribution : )
Class-interval 0-10 | 10-20 | 20-30 | 30-40 | 40-50

Frequency 8 12 10 Ll . 9

2. &= v @ it e wif

(&) g (-4,6)R=3 a(-6,10) 3R B(3,-8)H AN TA WET
ﬁ?ﬁmﬁﬁmﬁﬁm%? 4
(b) THTAG AR, N Th g0 & F3 3 7.5 g0 W R, 90 W w9 W@ Hi o
6 Tt Rl 39 N B 7@ Hifdvgy | 4
() frg Hfm 5 feeht B 1 @ i ) o6 @ sTE § Ronle w0 T
@ Brgw R el e F we A R 4
(d) QA 3Tt H TH T FSRRl 1 AN 12 B| Il H ™M ¥¢A e W IH &
& T e ¥ 185 2, @ @' 3@ fifw 4
(e) feama efiey V3x%-11x+8J3=0 % 7=t 7 i) 4
() T=afeaRea sttwel & mifemm 3@ fifve . 4
11 - e 0-10 | 10-20 | 20-30 | 30-40 | 40-50

g 2 8 20 15 5

2. Do any five parts :

(a) In which ratio, does the point ( - 4, 6 ) divides the line segment made

8000/78
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() The length of 4 tangent from a point A at distance 7-5 €m from the
centre of the circle is 6 cm. Find the radius of the circle. ?

(c) ?1'0""6 that the line dividing any two sides of a triangle in a same ratio
1S paralle] to the thirg side of the triangle. *
S T g .

(d) ‘ um of the digits of g two-digit number is 12. The number formed by
interchanging the digits is 18 more than original number. Find the
number. 4

(¢)  Find the roots of the quadratic equation J3x? -11x+8J3=0. 4

() Find the median from the following data : 3

Class-interval 0-10 10-20 20-30 30-40 40-350
Frequency 2 8 20 15 S

3. TH W, AW F AWK H ¥ 3 g oA PR idiiha §1 @ ow D g S
19@1%@%@%@13-5%%%%%@@@1&%%

i

Hgqar

6

P T TaTe g i s ded 13 9t 7 wepel 98 SEwa 90 x AH2 F

YR T =™ Fa hifag)

o

3. A solid is of the cylindrical shape and its both ends are hemispherical.

The total height of the solid is 19 ¢cm and the

@cm. Find the volume and total surface area of the solid.

Slant height of a right circular cone is 13 cm and its total surface area s

OR

90 n cm 2. Find the diameter of its base.

8000/78
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4. 7RSI e F R @ v e A % R @ g A0 60° 8 oM gy
12 F AT F0 45° 21 Faw R H Har W HC 6

arerat
79 Gl P I EW o ¥ 0 @ I 2 A1 Gfowt 7t § @S T W R A o iy
- i R ST 21 T F S T AR 6

4. The angle of elevation of the top of a cable tower from the top of a building

- of height 7 metre is 60° and the angle of depression of its bottom 1s 45°

Find the height of the cable tower. 3
OR

When the angle of elevation of sun becomes 8 from ¢, then the shadow of

a pillar situated in a horizontal plane increases by a metre. Find the

height of the pillar. ' | 6
5. a’rﬁwaﬁ%uﬁa%aan:@sgaqﬁmzﬁn%amﬁm@ﬁm 6
O
N
&S e
N
O
2 HHITA ETeH S QUi 31 ST R il &1 4 365 2 6
5~ Sum of two numbers is 8 and sum of their inverses is % Find the
numbers. 6
OR
Find two consecutive positive integers whose sum of squares is 365, 6
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